Rearanging the Subject of the Formula

$$\frac{2}{2} \times \frac{1}{2} \times \frac{1}$$

$$I = V \times R$$

$$I = \mathcal{E}$$

$$V = I(R)$$

$$Ix)R = V$$

$$R = V$$

$$V = u + at$$

$$axt = V$$

$$axt = V = u$$

$$axt = v - u$$

$$\frac{V-u}{t} = \frac{c}{t}$$

$$\frac{V-u}{a} = \frac{t}{u}$$

$$\frac{v-u}{a} = \frac{t}{u}$$

$$\frac{v-u}{a} = \frac{v-u}{a}$$

$$a = \frac{E}{M}$$

$$E = \alpha$$

$$F = m \times \alpha$$

$$\alpha = 3 \text{ m/s}^{2}$$

$$M \times \alpha = F$$

$$M = \frac{2}{3}$$

$$\alpha = \frac{2}{3}$$

$$\alpha = \frac{2}{3}$$

$$\alpha = \frac{4}{3}$$

$$\alpha = \frac{4}{3$$

N

$$t_{K} = \frac{1}{2}mv^{2}$$

$$\frac{1}{2}mx^{2} = \frac{\xi_{K}}{2}$$

$$\frac{1}{2}mx^{2} = \frac{\xi_{K}}{2}$$

$$\frac{1}{2}mx^{2} = \frac{\xi_{K}}{2}$$

$$\frac{1}{2}x^{2} = \frac{\xi_{K}}{2}$$